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Computerised O.M.R. Answer sheet which Is being
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the circle of correct option in the Answer Shest by
Black Ball Pen only.

4. There are 40 (36+4) pages in this Question-Booklet
including 1 page for General Instructions and three
blank pages for Rough Work in the last. In case an
examinee receives an incomplete or defective
Question Booklet, he/she should make a request to
the Room Invigilator 1o change the same within
10 minutes of start of the exam.

5. This Question Booklet contains 150 queslions from
following subjects :

{1} Maths Q. Nos. 1-50
{2) Chemistry  Q.Nos. &1 - 100
(3) Physics Q. Nos. 101 - 150

6. Each queslion carries 1 mark and % mark will be
| deducled for each wrong answer,
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Calculator, Cellular Phone, Digital Diary, Log Table,
Pager, elc., are restricted during the examination.

Any leaf from the Question Booklet should not be
detached. After the Examination, Question-Booklet
and Answer-Sheet must be handed over lo the Room
Invigilator.

9. During examination the examinee will not be allowed
to-teave the examination hall till the END of the
Examination.
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MATHEMATICS

" 1. Thereal part of tan~"(x + iy) is

( )

>:m=-_ﬂ.T
1+ X% +y?

(- o )

B) tan”| -—5—
1-x“-y° )

1
) 2_ 2
2 ,Tx -y,

. The root of the equation x3 — 4x - 9=0
lies between

A) 1and 2

B) 2and 3

C) 3and 4

D) None of these

. The order of convergence in Newton-
Raphson method is

A) O
B) 1
C) 2
D) 3
. The solution of the system of equation

X+y+2=9,x-2y+3z2=8,
2x+y—2=3is

A) (1,2,3)

B) (2,3, 4)

C) {(-1,2,3)
D) (-2,-3,-4)

1.

3.

whm
tan~(x + iy) o KTl R FiaA-arg ?

A) tan™ :,waJrﬂ
B) tan™ Mﬂﬂmmvmﬂ
C) wﬁmz.. Mﬂrﬂmﬁq
D) Jtan” Tllwﬂl%

I %3 — 4x — 9=0 F A FH T
IR

A) 13R 2

B) 23t 3

C) 33t 4

D) 3 § =g off 7
uﬁuaﬂﬁmﬁm_m%ﬁﬂﬁﬂ
HH-TTE 7

A) 0

B) 1

C) 2

D) 3

. RISl X +y +2=9, X—2y + 3z=8,

2X + y — 2z = 3% GHYNE 8
A) (1,2,3)

B) (2,3, 4)

C) (-1,2,3)

D) (-2,-3,—4)
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5. As soon as a new value of a variable is

found by iteration, it is used immediately
in the following equations, this method
is known as

A) Gauss-Seidel method

B) Jacobi's method

C) Gauss elimination method

D) None of these

. Number which occurs most frequently
in a set of numbers is

A) Mean

B) Median

C) Mode

D) None of these

. Correlation coefficient is the geometrical
mean between

A) Regression lines

B) Two regression coefficients

C): Both A) and B)

D) None of these

. Coefficient of variation is

A) 1008
X
B) 100X
8]

C) So.)m.lm .

x

b

D) 100-=
Jo

5. S @ T ¢F T 4F TRER F TN

TR SR R, S Gl €@ IR wie §-
IR foran < R, 3 Ry e 2
A) nia-fage fafy

B) St fafy

C) ma T fafy

D) wH 4 =1§ oft 7

. T GEHT ) T o 92 # wed a1l

IR TR A I8 W 2
A) sfam

B) =fedsnr

C) sgeth

D) s 4 #§ off 7

. TEHEY NS & " § suiiy gaee

HE?

A) wfema @t

B) = wirmt TR
C) A) 3it B) gt
D) 7 @ =g off 7

. 5 e o e v 3 7

A) 1002
. ¢

B) 100X
1v)

©) 10042

i

D X
v.“oo.,\m
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9. Quartile deviation is defined as

10.

11.

12.

A) waﬁpv
B) 1(Qs—Q,)
N 3 2
) 1@,-a,)
N 3 1
D) 1a.q
N 13

If two regression lines are perpendicular
to each other, then their coefficient of
correlation is

A} 0
B) 1
C) +1

D) None of these

fx2+y2=1thenyy"+(y)2=__

A) 1

B) —1

C)o

D) None of these

If x=a(sin® —6cosA),

y=2a(cos8+ 0sind) then y @6 = "
is

A) 1

B) —1

C)0

D) None of these

9.

10.

11.

12.

Tgute feaem = gfonive e fel 3§
FrRrmn g ?

A) waﬂo;
B) .m.au-omv
c) w_ﬁou-o;
D) 1a,q

N 13

af s Y o R s R,
Al ITH! TEEEY TN &

A) 0

B) 1

C) +1

D) 378 @ wiS oft 7

Ik x2+yi=1R WY =
A) 1

B} —1

C)o

D) ¥4 & = +f 7

AR x = a(sin® - BcosH),
y = a(cos o + 8sing) at
y@o=1/ =

A) 1

B) -1

C)o

D) 3 A = oft 7
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15. If y=log

13. If x=a(8-sin®), y=b{1-cos8) then

14. If y=x* then y’ =

ﬂ@auvm s__
A B/ B) ~&/,
cy & D) "%

A) x*(1-logx)
B) x*(1+logx)

Ov XX_._T.._
Uv xxﬁ
X+1

1+4/%
1-/x

theny’ =
1 -
A X[+ x)

Jx
(1-x)

B)

®) T

16. If (1+ni)? is purely imaginary, then

n=

A) 0

B) 1

C) -1

D) Both B) and C)

13. 9fd x=a(@-sind), y=b(1-cos6)

14.

15.

16.

dyee=n,=__

A B) 2/,
c) & D) 9
Ry Ay =

A) x*(1-logx)
B) x*(1+logx)

C) x¢*~?
Uv xxi
X+ 1
1+ /%
e y=I My =
y=10g 1—Jx Y &

1
A Tx(1+x)
VX
(1-x)
1
©) 1+x

B)

1
D) TR

Ak (1+ ni)? g W& § wIeafE 3
' =

A) 0

B) 1

C) -1

D) B) 3k C) eI

ﬁ Page No. 6 u

2DD-AN




17.

18.

19.

20:

Th j ﬁmo*m+w_ is
e conjuga T
8-i
A) ——
) 5
g) 8+
5
C) i-8
5

D) None of these

The amplitude of the complex number
(+)(1+2) .
1+3i

3. sin! ﬁ N u
B) tan™ ﬁk u
C) -tan™ AX u

D). None of these

The value of (1+ )8 - (1-i)? is
A) O

B) 1

C) —1

D) None of these

The fourth roots of unity are
1 i
t—,t—
A) 2 2

B) +1i
C) 1,2,3,4
D) None of these

2+ 3i
1+ 2i

8-i

17. 1 gy HE-a1 g 7

A

%5

gy 8+i
5

Ve i 8
C) ==
) 5

D) & @ 1 oft 1

18. fusr g (0042) o gpm g
] 1+ 3i

A) sin™ ﬁ & u
mv. tan™ hk u
C) tan™ ﬁ X u

D) w1l & Hi oft T

19. (1+i)® - (1-i)° FT I B
A) 0
8) 1
C) -1
D) T @ 1 off T

20. THAT T AT B
A) *

B) +1ti
C) 1,2,3,4
D) s & i¢ +fi 7
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21. The critical point of the function x* is
A e
B) 1
C)o

D) %
22. The points of inflection of the curve

2 .
y=e> is

» (Ya )e) Ve Vie)
o (Ve V) Vo))

p

o (Ve 7e) Ve Ve)
D) M\A\,\m_\,\m:x\w V&)

23. Theradius of curvature y2 = 2x(3 — x?)

at the points, where the tangents are
parallel to x-axis is

A) 3
B) -3

Qmm

D} None of these

24. If the mean of six numbers is 42, then
the sum of these numbers is

A) 246
B) 252
C) 258
D) 7

Ed

21. ®e[ x* w1 Froriue fig 2
A) e
B) 1
C)o0

D) %

20w y=e™ o ufEda fig d

» (V6 ) Ve Ve)
o (Ve V6 ) Ve Ve)
o (Vi) Ve Vi)
o (Y Ve ) Ve iR)

23, <&l Yl 1@ EE-E w99 €, 39
fiig W as y2 = 2x(3 -x2) M B=?
A) 3
B) -3

c) Y

D) ¥l ¥ #i% *ft e

24, af% . gEmel f) oftgm 42 @ W

e 1 AT 3 | | e ¢
A) 246

B) 252

C) 258

D)7
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25. Median of 6, 8, 7, 5, 4, 9, 3iis
A) 6
B) 7
C)5
D) 8
26, Ity =tan~| —SNX_ ) jnen IV -
1+cos x dx
A) 2
1

B) ~5

4
QM

D) -2
27. Ifa*+a¥=a**Y, then %. =
A) —a¥=r
B) a¥7*
C) -a*7Y

-

Uv m<+x

28. If x™y" = (x +.5=._+= then @ =

dx-

25.°6,8,7,5,4,9, 3h Afemm 2
A) 6 _
B) 7
C)y5 }
D) 8

sinX & gy

! =tan”| =2
26. 7 y 1+cosx dx

A) 2

28. IR xMy" = (x + )"+ @ Y =

h Page No. 9 H '2DD-AN
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30.

B)

1+x2

.
2(1-x?)

1
2(1+ x2)

C)

D)

If x¥ =Y~ then y
dx

A) 2-logx |
(1-logx)?

2-logx
B) 2(1-logx) -

logx — 2
- (1-logx)?

D) 2 —logx

31.

(1+ logx)?

Letf:X>Y andg:Y— 2.

Let h=gof: X — Z. Suppose gis
one-to-one and onto, which of the
following is FALSE ?

A) If fis not onto then h is not onto

B) Iffis not one-to-one then h is not
one-to-one

C) Itfis one-to-one thenhis one-to-one

D) ffis one-to-one then his one-to-one
and onto

30.

31,

Gmmm No. aﬂ

A) 2 -logx
(1-logx)?
2-logx

By — Y&

) 2(1-logx).
logx —2

C

) (1-log x)?

2 ~logx
D)y = 9%
) (1+logx)?

MW XoYR g:Y Sz

e h=gof:X—>2Z = e g weiw

o To7e s ofk g W fk g,

fefafee f d Fr-mem 2 7

A) 3R P gt o fof T R A b ot g
T st 7 & .

B) a3 ' wedish % forq orem i & 4
i 59% & fore avem g 2

C) AR e & fore o/ 2 Y b st
T & g avem 2 .

D) A F yoF % g arem & @ W v

% forg arem sik gt w fnfe 2
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2 Which of the following statements is
FALSE ?

A) {2,3,4) c A implies 2e A and
{34l cA

B) {2,3,4)e A and {2,3}eB implies
{4}cA-B

C) A-B2{3,4} and {12} cB implies
that{1,2 3,4)cAUB

D) {2, 3} c A B impiies that
{2,3}n A =¢ then {2,3} cB

. A'subset of Ax A is called
A) Relation from Ao B

B) Reilation from B.to A

C) Relation in A

- D) Relation in m.

. identity relationin A={1, 2, 3, 4, 5})is
A) {(1,1).(3,3), (5, 5))

B) {(2,2), (3, 3). (4, 4)}

C) {(1.1),(2,2),(3, 3), (4, 4))

D) None of these

A function whose range consists of one
element is

A) Onto function

B) One-one function

C) Constant function

32. Fe1 o @ T HoF TG R ?

33.

34.

A) {2,3,4)c A FTaedE 2¢ A 3
{3,4)cA?

B) {23 4)e A 3R {2 3)cB & ad
{4/cA-B %

C) A-B{3,4) 3{1 2} cB wrawd
{12,3,4jcAUB®

D) {2,3} c A UB T el
{23)nA=¢p T {2,3}cB ?

AxA % HEIUE I T FET AR 7
A) A¥ B T Gay

B) B Y A & Ty

C) Ad gay

D) B # @=y

>n:__m_ 3, 4, 5} ¥ THeTa gey ®
A) {(1,1),(3,3),(5,5)}
B) {(2,2), (3, 3), (4, 4)}

C) {(1,1),(2,2), (3, 3), (4,4)}
D) 579 & IS oft 7

35. T we Forasht dvft of o wewm 3, T 2

D) Identity function

Qmum No. ﬂ

A) T g W PR wem

B) &% % U s1erT wei

C) f8Rr wer

D) T&Eqdr weA
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s aals, sy e et 3 mA amem iy e tsmimees

36. While solving simultaneous equations 36. wa-S+ fafYr g groa et w5

by Gauss-Jordon method, the coefficient T W 9y T AfdTT T %A 8
matrix is reduced to __ = S &
A) Null matrix _ A) I A
'B) Square matrix B) = #ftwg
C) Diagonal matrix C) farerof tefta Afwm
D) Row/column matrix D) wr Afgwa
37. In Regula-Falsi method of finding the | 37. WIen-res faftr & wofiemor i awafys
real root of an equation, the curve is ¥ T T T 1 399 aea e s
replaced by %
A) Chord A) Sfiar
B) Circle B) ¥
C) Parabola C) B
D) snfiaEes

D) Hyperbola

38. The slope of the tangent to +/x + )\m =1 38. ﬁw. Ww F Vx +.Jy =1 wwed-@w

at ﬁm. mu s__ . - ws -
) A) 1
A) 1 B) -1
e D) T & % oft i
D) None of these .
39. 9F y = 6x — x? ) ToEi-@r
39. The tangent to the curve y=6x — x2 is 4x -2y + 1 =0 @ % g g,
parallel to the line 4x— 2y + 1 =0, then wggiar 1 T@ues fog &
point of contact of the tangency is at :
A) (1,2) 2 e
B) (2,1) B) (2,1}
&) (2.8) C) (2,8)

B Gmuo No. 12 u 2DD-AN
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40. The angle between the curves Xy =2

41.

42,

40. 9% xy =23 y? = 4x F WAL

and <m =4x Is

A) ms-dﬁku

B) tan™'(3)
C)3

D) Y%

The variance of the first n positive
integers is .

A) mmam ~1)

B) (% +1)

C) %M:?iv

D) AIQM:A:LV

If X; and X, be the means of two

mwau_mm of size n, and n,, then the
mean X of the combined sample is

nX, —nN,X
Ay DX Ny X,
n+n,
Xy + NoX
mv 1\ 2N
n,+n, :
o X+ noX
Ov 1741 2ND
Ny —nNy
NX, = N, X
Uu 141 2N2
Ny — Ny

41.

42.

Gmum No. ._wq

| A) ﬁm:r._ﬁkwu

B) tan™'(3)
C) 3

D) Y4
YER N YHICHeR Uil T free 2

A) mmam —1)

B) Wam +1)

C) %M:ei 1)

D) ﬂmn::Tc

A ny 3R n, IR & & it R
Iem X, ¥R X, 2, O oy T
afaa X Bt

Ny~ MoX
>v 1\ 2N
Ny + 0,

N{Xq + NoX
Wv 1% 272
n; +n,

NX; + N, X,
Ov 141 202
N —nN,

NX; — N, X

Uv 11 272
:._ll—._N
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43. The coefficient of correlation lies
~ between

A) -1and0
B) 0and 1
C) -1 and -1

D) —eo and +oo

4. If zénﬁmxmimxux f-1<x<2
: . 37-x ; if2<x<3
then f(2) = .
A) 35
B) ~1
C) 24
D) Does not exist
4. =<nm_8:+%a5_5mzmlm =
+ A) =1
B) 1
C)o

D) None of these

2
6. fim —2=X_ s
A) 1

B

B) Y
c) Y,

D) —1

43. WEGE T YOI Foh oAt T B
A) -1 3RO
B) 03 1
C) -1 3t —1
D) —o0 3R +oo

3 +12x-1; FR-1<x<2
M__.m ﬂx = ) -
S 37-x ; aR2<x<3

@ f(2) =
A) 35
B) -1
C) 24
D) s & e @
45. AR y = gloal! + dogx) gy MWu
A) —1
B) 1 -
C)o
D) ¥ & #i¥ sft 7

- 2
46. lim w X
X=edxS — X+ 3

A) 1
B) Y,
c) Y

D) -1

Tummm No. ._aq
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47. x_@om%mm is -
A) 1
B) 2
C) =1

D) None of these

48. lim X00SX—log(1+x) ;o
X0 ' X

A)
B)
C)

=il
2
i
2
=1
4
_uvm.

cotx -1

49. fim ——X js -
x>0 X

A) Qm
B) Nw

C) -3
D).3

50. lim (1—-tanx)sec2x is
x>

A)0
B) 1
- C)
D) None of these

47.

48.

49.

50.

Tumum No. Amq

. 1-cosx
im —— =
x—0 X

A) 1.
B) 2
C) -1
D) ¥4 @ %5 ft 7

. cosx —log(1+ x
lim XC08 moE ) =
x—0 X

A)

2l

2

.“
EM

-1
Ce

1
D) 2

B) Y

C) =3

D) 3

vn___,3 (1-tanx)sec2x = .
A) 0

B) 1

C) -1

D) ¥ & =g ff 7 .

T e T
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51.

52.

53.

54.

D) K

CHEMISTRY

Identify the correct statement.
A) Thermoplastics can be remolded

B) Thermoplastics do not have cross
linked structure

C) Thermoset polymers do not have
clear glass transition temperature

D) All of the above

Which of the following compound form
covalent crystals ?.

A) NacCl

B) Diamond
C) Benzene
D) Chloroform

A crystalline solid X reacts with dil HCI
to liberate a gas Y. Y decolourises
acidified KMnO,. When a gas ‘Z' is
slowly passed into an aqueous solution
of Y, colloidal sulphur is obtained X and
Z could be, respectively

A) Na,S, SO,

B) Na,S0,, HyS

C) Na S04, HyS

D) Na,SO,, SO,

Which of the following is an example

for metal used for cathodic protection
ofiron ?

A) Tin
B) Zn
C) Mg

51.

52.

53.

54.

A fame

e o 1 IR H

A) oA q: 1 ST O @

B) wiwenieesd i foens wew € 8

C) =riide uifemd 3 ure vree e e
GEEICE RS

D) &= w:t

B 3 -2 S Y TeEEeH e
CEGIR

A) NaCl

B) samE

C) sifs

D) FeRIBH

e el aifee X i Y & gE s
¥ fru waen HCI & @y Sfafrn a6 |
Y TRifERIE KMnO,, 1 e T 3 +
= g 2 it f Y & O wield o §
i 8 ST 2, d Feinsd 9wt &
FET: X 3R Z 9T eiar @

A) Na,S, SO,

B) Na,SO,, H,S

C) Na,SOg, HyS

D) Na,SO,, SO,

£ 3 ¥ -1 Ty 1 T 3T @ S

S & el it % R 3w

S g 7
A) fe=
B) Zn
C) Mg
D) K

ﬁ Page No. :&
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35.

Identify the correct statement from the
following.

A) Alloys are denerally corrosion

resistant

'B) Galvanic corrosion occurs when two

7.

dissimilar metals in contact

C) Galvanic series used to predict
corrosion behaviour of metals

D) Allof the above

The major.composition of brass alloy is
A) Copper and Zinc
B) Copperand Tin -
C) Zinc andTin

D) Tin'and Nickel

The compound which is NOT soluble
.5 water is

A) Sodium chloride

B) Acetylene

“C) Chilorine

D) Siiver nitrate

. Which one of these is NOT known ?

A) CuCl,
B) Cui,

C) CuF,
D) CuBr,

Mass number is the sum of

A) Protons and neutrons

B) Protons m:,a electrons

C) Protons, electrons and neutrons
D).None of the above

55. Ferfifaa 3 & @) T9qe ) vwEH W

56.

57.

58.

89.

A) STETaY 3T AR T G Shid g &

B) ferstedt Sca=1 FaTelt 5 79 it 3 9
i 3 2 sigers T M

C) urgadt % I % EER H A F g
TS SaTe faRE Faen

D) s wft

TG AT FT TG FASH 8

A) w37 5 !

B) a3k f&

C) fore afit fom

D) fom iR

<t iR T 3 geesie T’
A) Aifsam s

B) rtyfefem

C) i

D) féres rge

T Y HH-T1 Ja TE R ?

A) CuCl,

B) Cul,

C) CuF,

D) CuBr,

TTH GEAT T I &

A) Wt iR =g

B) el 3t sorgi

C) Wi, 34 R i
D) T8 @ id oft
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60.

61.

62.

63.

64.

Atoms of different elements with same
mass number are known as

A) Isotopes
B) Isétherms
C) Isobars

D) Isochromes

Brownish haze of photochemical smog
is due to

A) NO,
B) CH,
C) CO,
D) CCl,

The statement that is NOT correct is

A) Compressibility factor measures
the deviation of real gas from ideal
behaviour :

B) Van der Waals constant ‘a’
measures extent of intermolecular
attractive forces for real gases

C) Critical temperature is the lowest
temperature at which liquefaction of
a gas first occurs

D) Boyle point depends on the nature
of real gas

Natural rubber is made up of

A} Isoprene units

B) Styrene units

C) Silane units

D) Ethylene glycol units

The reducing agent used in the

extraction of iron from hematite is

A) Coke

B) Al,C4

C) SiO,

D) CaO

(Page No. 18 ;m

60.

61.

62.

63.

64.

A FIH G&ER S T i &

TR HE ST ST R |

A) e

B) Ueerq@

C) tEard

D) tEh .

RICIehita 3T & S TT % g4 & FHRY

e

A) NO,

B) CH,

C) CO,

D) CCl,

98 ey =Y Hel A @

A) Tl FIE STET SHER ¥ IS
A % e ) Amgar 3

B) O =X I fBR v awafas d9i &
T SeTiiciag e STrereh aTehai =ht S

C) wewEl qHE T8 w9 aEE §
W 9T 7 T TR B @

D) siae fog areafas A9 it wfa w fank
Tl &

TR @ ___ F SR R

A) TG gwreat

B) Rfe whreat

C) T et

D) 3l e seat

THTETSE B WY % FHehrt 1 SRmTet Eiae

F FEER THE

A) FH

B) Al,O,

C) Si0,

D) CaO
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65.

66.

67.

€8,

69.

The composition of babbitt metal is
A) Tin, copper and antimony

B) Tin, nickel and antimony

C) Tin, chromium and antimony

D) Tin, silver and antimony

Which of the following is an example for
a synthetic rubber ?

A) Polyisoprene
B) Polyesters
C) SBR rubber
D) Bakelite

-

Identify the molecules which belong to
different class.

A) Ethanol

B) m_.mm:o_

C) Isopropyl alcohol

D) Ethylene glycol

Which of the following polymer contain
an halogen atom/s in the chain ?

A) Teflon :

B) Polystyrene

C) HDPE

D) LDPE

The metal used in the galvanization of
iron is

A) Nickel

B) Zinc _
C) Chromium

D) Aluminium

65. =Tfarg g i HoEET |

A) &1, i oiK srdmt
B) fA, ferher afit it
C) a1, Fiftrm ot aridimf

D) fom, foreat ofig ottt

66.

67.

68.

69.

T § 7 fadfts =% e
IR ?

A) diferaits=

B) wifereed

C) SBR &R

D) ST

ULt <hl qEeH W, S ST A 4
GEfem Bl
A) 3T
B) sgEHEd
C) THMfie JAeehigT

" D) 33l et

o 2t P e s A T e
THI] B & 7

A) THEH

B) urfaifeefa

C) HDPE

D) LDPE

W % Neagoee # REE e
gy

A) Trhet

B)

C) wiftpm

D) stegffam
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70.

7.

73.

74,

The statement that is NOT correct is

A) Hypophosphorous acid reduces
silver nitrate to silver

B) In solid state PCl; exists as
[PCl,]" [PClg]”

C) Pure phosphine is non-inflammabie

D) Phosphorous acid on heating
disproportionates to give
metaphosphoric acid and
phosphine

According to Aufbau's principle the

correct order of filling the orbitals is

A) 2s<2p<3s<3p<d4s<3d

B) 25<35<2p<45<3p<3d

C) 2s<3s<2p<3p<ds<ad

D) 2s<2p<3s<3p<3d<4s

25 cm3 of oxalic acid completely

neutralised 0.064 g of sodium

hydroxide. Molarity of the oxalic acid
solution is

A) 0.064
B) 0.045
C) 0.015
D) 0.032

Which of the following is NOT a material
used in dry cell fabrication ?

A) NH,CI
B) H,SO,
C) Metallic Zn
D} MnO,

The purest form of iron is
A) Ultra iron

B) Pig iron

C) Castiron

D) Wrought iron

70.

71.

72.

73

74.

I8 Teeed il get Ae §

A) SRHIHEE TRIs fieat Teee i
e & = e 2ar @

B) wifwrs feéf & PClg, [PCI,]* [PCle]”
¥ & & g 2

C) 36 HIeH IR saemeha B

D) Berhiehife Tiie aftt 6o 33 % R
HIEHIY Tfie € smiafda 99 &

Aate il & STER afies W =

BRI

A) 2s<2p<35<3p<4s<3d

B) 25<3s<2p<45<3p<3d

C) 2s<3s<2p<3p<4s<3d

D) 2s<2p<3s<3p<3d<d4s *

25 cm3 % feaTiors T qft o @
0.064 g Hifsyn TESEES & ffsg
R fean man | stfeenferr wfire Aoy =
Areied @

A) 0.064

B) 0.045

C) 0.015

D) 0.032

Pt # @ FH-w qEt da S
T | e # 7 _

A) NH,CI

B) H,80,

C) Terfeds Zn

D) MnO,

e T T Y@ B9 B
A) 375 wiET

B) fm wer

C) e @il

D) Te et

Tummm No. E i
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75.

76.

An exampie of acidic flux is.

A) CaO

B) FeOQ

Cy Si0,

D) MgO

Which of the following deals with
environmental regulation and audit ?
A} 1SO 14001

- B) ISO 9001

77.

78.

79.

C) OSAHS 18001
D) None of the above

Which.of the following deals with green
chemistry ?

A) Synthesis in better yield using a
catalyst

B) Lesser generation of waste

C) Possible use of renewable
resources

D) Ali of the above

Density of carbon monoxide is
maximum at

A) 2 atm and 600 K
B) 0.5 atm and 273 K
C) 6 atm and 1092 K
D) 4 atm and 500 K

Thermiocole is chemically made up of
A) Styrene units

B) 1, 3-butadiene units

C) Adipic acid

D) Ethyiene

75. SRITS wered i T IaTE B
A) CaO
B) FeO
C) Si0,
D) MgO
76. wataeia e ok e when ¥ w@y
Freafofaa # 3 RN
AR
A) SO 14001
B) 1SO 9001

C) OSAHS 18001
D) 570 & g oft i &

77. ﬁm@ﬂ%ﬂﬂu%ﬂsﬂﬁﬂﬂ?
A) T FTefoTee T 3T F:0 Yeaw a3

AL
B) =R i % figh
C) ity denest =1 i 39am
D) Sugew
78. ST HIAISIRTE 1 o aifireram 2
A) 2 atm 3t 600 K
B) 0.5atm 3273 K
C) 6 atm 3t 1092 K
D) 4 atm 2t 500 K

79. griwie TEERE €9 § o Y

G.mm No. 21
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80. Forthe properties mentioned, the correct
trend for the different species is in

A) Strength as Lewis acid
. —-BCly > AICl5 > GaCl,

B) Inert pair effect-Al > Ga > In
C) Oxidising property
AR > n* 5 T8

D) Firstionization enthalpy —B > Al > Tl
81. Conversion of oxygen into ozone is

non-spontaneous at

A) All temperature

B) High temperature

C) Room temperature

D) Low temperature
82. The correct arrangement for the ions in

the increasing order of their radii is

A) Na*, CI™" Ca*?

B) Ca*3,K*, 82

C) Na*, AI*®, Be*2

D) cI,F-,s2

83. Which of the foliowing is an example of

white pigment ?
A) TiO,

B) Cr,0,4

C) Fe,04

D) MnO,

84.- Which of the following is/are
responsible for greenhouse effect ?
A) Carbon dioxide
B) Chlorofiuorocarbons
C) Methane
D) All of the above

80. 3evr@ T % R, Rfir i & g |

IR TR

A) T59 e & &9 & e

~-BCl; > AICl, > Omohm

B) E.@qmmw%uﬁﬂl>_v0mv_:

C) T 0 ~ AP 5n*® > Tj*2

D) WEet AT Tt — B > Al > Tl
81. 3N % HfwRfieT =1 i L}

Tanfas 781 8

A) ot aumm

B) 3=4 QAN

C) TR T a9

D) %9 aoHH

82. I7% Frean % e wu § o7l Y |l
TR B
A} Na*,CI' ca*?
B) Ca*? K* s
C) Na*, AI'®, Be*?
D) CI,F-, 82 |

83. T @ F-a1 @he friiz 1 ww
I B 7
A) TiO,
B) Cr,0,
C) Fe,04 | |
D) MnO,

84. T8 & T ey W 3 fore Rrdem 2 7
A) FTe SIEETSS
B) FIRHRES
C) w_c.ﬁ

D) s @it
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85.

86.

87.

88.

89.

Which of the following Emm_mmmﬁ@.ma_:@
secondary cells ?

A) 4:m<..mmanwvm recharged
B) High'cycle time

C) Has to be discarded after one
complete discharge

D) High shelf life

identify the monomer used in the
preparation of Bakelite.

A) Phenol
C). Ethylene

B). Toluene
D) Adipic acid

Which of the following undergo

crosslinking reaction during curing

process ?

A) Resoles

B) Novolacs

C) Epoxy resin

9 All of the above

One of the important ore of aluminium is
A) Bauxite
C) Pyrolusite

B) Haematite
D) Magnetite

The statement that is NOT correct is

A) A furnace lined with Haematite is
used-fo convert castiron to
wrought iron :

B) Collectors enhance the wettability

of mineral particles during froth
flotation

C) Invapour phase refining, metal
shouldform a volatile compound

D) Copper from its low grade ores is
extracted by hydrometaliurgy

85.

86.

87.

88.

89.

53 & @ - 710 e R
& TR H T R ?

A) Segfarst fogan s e

B) I=4 9% &1 g9

C) T qof fewast & o1e e fear s =t
D) 3% W% Sfiaq

STRTITSE <hl IR B S HH 1T B 1 9=y
A) e B) 3
C) e D) afefim e

Ferfefes § w-ot somer wiear & Ao
ST SRTfsRaT § e & 7

A) fEen

B) ralerad

C) waft IRm

D) 39w it

T Y wewEqel s F @ s 2
A) afFgme B) gHIeTEe
C) Yiearee D) #ierse

EECEC S R i

A) THICTSE % HIY T W2} 1 seimTel ey
TTeT 1 oS & wgert 3 Rr R s @

B) Seiaed Hid ey % SH wi Hoi

o Fag EARITK GRS

C) 757 =1 & 9fesh Uy Uk IRR s
ST SRy :

D) 31 Fiot Aot & sprei @ wrw
RIS AeTST 1T FehTer wrar

q Dummm No. m&
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90.

91.

A mixture of 10 g of BaO and CaO
requires 100 cm?® of 2.5 M HCl to react
completely. The percentage of calcium
oxide in the mixture is approximately
(Given : molar mass of BaO = 153)

A) 52.6
B) 55.1
C) 44.9
D) 47.4

Which of the polymers will have carbon-
heteroatom bonds between monomer
units ?

A) Polyesters

-B) vo_<<3<_o:_ozn_m

92.

83.

94,

C) PMMA

D) Natural rubber

Froth floatation process is commonly
used for

A) Sulphate ore

B) Sulphide ore

C) Sulphite ore

D) Oxide ore

If the salt bridge is suddenly removed
from a working cell, the voltage

A) Drops to zero

B) Decreases

C) Increased

D) No n:m:om_.onoca

Which of the following is a chemical
pollutant ?

A) _._m.m<< metals

B) Polychlorinated biphenyls

C) Pesticides

D) All of the above

80.

91.

92,

93.

94,

BaO @M CaO & 10 7 w1 firsor oy
e ¥ wfofshar 0 % e 100 cm3 =y
2.5 M HC| &% 7mroaesar 2 | fivsor 8
Hicvam s 1 yiyes e

(e 72 & @ BaO = Ham w = 153)

A} 52.6
B) 55.1
C) 44.9
D) 47.4

AR 3Igal o st o) o @ e —a
e geeTen T g ?

A) uiferees

B) uifiRMTStaite

C) PMMA

D) IahieRs TR

S GAICT NisHaT hT ST X 39T
fora s @

A) % 3T

B) Ue%hE 39wh

C) we¥e s

D) ¥TsE 3w

M T I Y ATE FH W@ AT D
& T s R &) diedw

A) @8 i

B) 5 Wt 2

C) Jg wrdt &

D) =i gl e g &

T A FH-5t T v 2 7
A) Tt Beem

B) DifvamiiRe smfede

C) ufeligg

D) 3w wft

h_ummm No. maq
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96.

C).cd

97.

98.

99.

100.

Step growth polymerization is dlso
known as

A) Curing reacyion

B) Vulcanization Teaction
C) Chain growth polymerization
D) Condensation polymerization

Transition metal which form an

amalgam is
A) Fe B) Si

D) Pt

The alloy used for making fuse wire is

A) Wood's metal
B) Monel metal
C) Alnico

D) Gun metal

The metal which is NOT purified by
electro refining process is

A) Silver B) Copper
C) Magnesium D) Zirconium
Which among the following cells are
secondary type ?

A} Lithium ion battery

B) Nicad cell

C) Both A) and B)

D) None of the above

Isotopes are atoms of
A): Different atomic and mass numbers

B) Different atomic number and same
mass number :

C) Same atomic and mass number

D) Same atomic number byt different
mass number

95

96.

97.

98.

99,

100.

Gm@m No. ﬂ

WY MY TRrssRe ®q
ST ST § |

A) sl =1 e

B) aerenta ufdfman

C) =1 Wy iHUssNm

D) & giferreIee

SR aTg it o s e 2

A) Fe B) Si

C) Cd D) Pt

IS TR A % 7Y seamiet eRamen fys
uTg ?

A) el it urg

B) W& g

C) =t

D) T urg
m@m&ﬁﬂam:a@ﬁﬂdﬁumﬂ
STaTeT 4rg &

A) =T B) ®W

C) Tfirm D) iy

e =ifemadt & 3 F-w o
TFR & 7

A) fafrm s Sed

B) fige aw

' C) A) af B) 31

D) ¥ & s sft 7 &

HTEHIET & Gy §
A) Tl wmmy ik e et %
B) faft=i wmmy we aik wwm e
e ¥ :
C) w91 v 3R gogmm gemat &
D) 59w gty wEAnd St R zemm
e &
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101.

102.

103.

104.

PHYSICS

Two wires of the same radii and material
have their lengths in the ratio 1 : 2.

If these are stretched by the same
force, the strains produced in the two
wires will be in the ratio

A)1:4 B)1:2
C)2:1 D)1:1

A wire of length 1 m increases iniength
by 0.02 m when subjected to a tensile
stress of 12x10% Nm™. The Young's
modulus of the material of the wire is
A) 6x10' Nm

B) 6x10% Nm

C) 12x10" Nm™2

D) 12x10° Nm™

According to Hooke's law of elasticity,
within elastic limits, if the stress is
increased, the ratio of stress to strain
A) Increases

B) Decreases

C) Becomes zero

D) Remains constant

A sphere contracts in volume by 0.01%
when taken to the bottom of sea 1 km
deep. If the density of sea water is

10% kgm™, then the bulk modulus of the
material of the sphere is

A) 49%x10" Nm™?

"B) 9.8x10"° Nm™

C) 2.3x10" Nm-2
D) 1.2x10"°Nm™2

101.

102.

103.

104.

witferes famm

T o Frown of el & 2 AR i e
1 A 1 : 2 1 9 3 O @ T g
= sivan ® o @) awi o Searfed o
3Tt ferae gm ?
A) 1:4 B)1:2
C)2:1 D) 1:1
.Amxsmza-m & T TIE § yrfed
FH W 1 fik R F1 Fd=96  0.02 miex
TS G Al § A a6 Wl @
1 AT fRa & 7 .

A) 6x10'° Nm2

B) 6x10% Nm™

C) 12x10'® Nm

D) 12x10% Nm™

T % @ % e % gEn, 9 %
et & Wit 7R = 9% T A e
o for gema 1 7Y fRaT S @ 7
A) SITET g ?

B) =W & &

C) ¥ @ &

D) f&r war ®

v TR % = 1 7., meas @ o s
T Th Tl T 3% T 0.01% o 1
3R T % O o o 10% kgm™ 2
0 g9 = Tl & e ATk A Bk @ 7

A) 4.9x10"° Nm2
B) 9.8x10"" Nm~2
C) 2.3x10" Nm™2
D) 1.2x10"" Nm2
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105. If the temperature of a liquid is raised,

1086.

A) 10.027

107.

108.

then its surface tension is
A) U@Emmm.m.a

B) Increased

C) Does not .o:m:@m

D) Equal to viscosity

A glass vessel has a capacity of

10 litre at 10°C. If the linear expansion
coefficient of the glass is 0.000009/K,
the capacity of the vessel at 110°C

(in litres) is

B) 10.00009

C) 10 D) 10.729

The difference in the lengths of two
metal rods remains the same at all
temperature. The coefficient of linear
expansion of their material are
0.000012/°C and 0.000018/°C. If the
length of the first rod is 2'm at 0°C then
the length (in metre) of the other rod at
0°C is
A) 15
C) 1.33

B) 0.66
D) 0.75
A bimetallic strip Q brass and iron is

heated. Then it bends such that iron is
on'the'inner side. This shows that

A) Iron hasbeen heated more strongly
than brass

B) Brass is heated more strongly than
Iron :

C) ‘Brass expands less than Iron
D) Brass expands more than Iron

1058.

106.

107.

108.

G Tumum No. 27 g

IR TF 59 &1 qHAH T I@T 8
T T8 oG FT BT R 7

A) FREAIR

B) =i §

C) weamEe & g @

D) ¥ & W gt

10°C & i & = =1 s 10 #fi
R | IR wTw &1 1@ foreart ore

0.000009/K2 @t 110°C H o =1 g
framiaEe ?

A) 10.027 B) 10.00009
C) 10 D) 10.729
ot T # @) urg & <€ Al TS @

R TF B TEal B | I gl & WY
fa&am %7 T 0.000012/°C @t
0.000018/°C | 3FR 0°C & ugel €8 i
@ 2 Wi 8 @t 0°C H gH &3 i wiamd

B) 0.66
D) 0.75

e 3 @R 1 g vedt mw R

T € | 7% 9 a0 e § 1o wire ot

AR | wg T e @ ?

A) <ieT fae = o & @1ftrs ggar & A
R TIE

B) e Sig & 1Mk gear & M foh
ST # ! .

C) diget AR & oft = R @ & |
D) diaet &g A s fier B @ |
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109.

110.

111,

112,

The volume of air at 300 K is 10~ m?3,
If the temperature is raised to 400 K
(taking the pressure to be remaining
constant), the volume of air (in m3) is

A) 0.76 x107* B) 1.33x10™*

C) 266x10™ D) 3.6x10™

During an adiabatic process, the
pressure of a gas is found to be
proportional to the cube of its absolute
temperature. The ratio C, /C, for the
gasis

A) 4/3

B) 3/2

C) 5/3

D) 3/5

In a Helium-Neon (He-Ne) laser, the
laser transition takes place in

A} He atoms only

B) Ne atoms only

C) Both He and Ne atoms

D) Neither He nor Ne atoms

When a sound wave of frequency

300 Hz passes through a medium, the
maximum displacement of a particle of
the medium is 0.1 cm. The maximum
velocity (in cmy/s) of the particle is
equal to
A) 60
C) 30

B) 60x
D) 30n

109.

110.

111.

12

300 _A.mmﬂmwﬂﬂﬁ 104 m3 2 | af
A9 = 400 K Y S9r a1 g fRR
ferm mn @ ) T A s (m3 ¥) B d
A} 0.75x10™4 B) 1.33x10™*
C) 2.66x10™ D) 3.6x107*

IR S % T T g g e
! AT % 5 & STgaTe F vy S R |
A9 % fire siguw C, /C, 2

A) 4/3 |

B) 3/2.

' C) 5/3

D) 3/5

T giferm-FaiT (He-Ne) sisr 3, St
A) a9 He Tomy]

B) wﬂﬂ_zzﬂ@

C) He 3R Ne vy

D) T He 3fk Ne wamy =i

S AT 300 Hz Y vk &=y eie oy
et B, Ao ¥ w o st
fereene 0.1 9t B 2, w1 31 arfam

3T (cmv's ) Frads aen & 7
A) 60 B) 60m
C) 30 D) 30n

Gm.um No. mmq
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113. The equation of a progressive wave is

114.

A A

115.

116.

117,

given by y = a sin 2a(60t— x) where a
and x are in-metres and t in seconds.
The velocity {MFVs) of the wave is

A) 40 B) 60

C) 80 D) 120

In stationary wave the distance between
two successive nodes or two successive
antinodes is equal to

B) A/2

C) A/4 D) A/6

The end correction of a resonance

column is 1 cm. If the shortest length

resonating with a tuning fork is 15 cm,
the next resonating length (in cm) is

A) 31 B) 64

C) 16 D) 47
Suppose A = BC, where A has the
dimensions LM~ and C has the
dimensions LT™. Then B has
dimension
A) L2TM
C) ™M™

B) L2T-W~
D) ML-2T-
U:a:m a short interval of time the
velocity v in m/s of an automobiie is

given by v = at? + bt®, where the time

tis in seconds. The units of a and b
are respectively

A) m-s?; m.g
B) s%/m;s*/m
C) m/s%;m/s®
D) m/s®;m/s*

113.

114.

Tk WTicrefiet wret i Tl

y = a sin 2x(60t — x) 51 feam =wam 2 |
wel & I x M F MR AFTH t B
& | 9T SR AT 3 (m/s) F nfy
B TeRel § 7 i
A) 40

C) 80

B) 60
D) 120

fRR @ # &t @R i @1 9 STER
s & o Y g e st a7
A) A B) A/2
C) M4 D) A/6

115, WA= W9 o 3ifem gur 1 9 2| ARk

116.

117.

Gmmm No. mﬂ =

S T e AR ¥
wEE 15 A % Al ovr YR wer
(cm)ferat Bt & 7
A) 31
C) 16

B) 64
D) 47

A it A = BC &, 303 A 71 3w
LM~ 3R C 1 o LT 6t B =7

M TR 7 )

A) L2TM B) L2T-'M-"
C) ™M™ D) ML2T
Y & STER™ ¥ SN ddiETse

TV R s Fov=at+bt® R
Sl T t SR A R A a ol b
T AT forfa |

A) m-s?; m.g*

B) s%/m;s*/m

C) m/s?;m/s®

D) m/s?;m/s*
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118.

119.

120.

121,

122,

The percentage errors in the
measurement of mass and velocity are
2% and 3% respectively. The
maximum error obtained in the
estimation of kinetic energy is

A) 11%
B) 8%
C) 5%
D) 1%

If f = x2, then the relative error in fis
A) (2ax)/x = B) (ax)*/x
C) (ax)/x D) (ax)®
The modulus of elasticity is
dimensionally equivalent to

A) Force

C) Pressure

B) Volume

D) Energy

Two hail stones whose radii are in the
ratio of 1 : 2 fall from a height of 50 km.
Their terminal velocities are in the

ratio of
A)1:9
C)4:1

B) 9:1
D) 1:4

If the Reynolds number is less than
2000, the fiow in a pipe is

A) Turbulent

B) Laminar

C) Transition

| D) None of the above

118.

119.

120.

121.

122.

RAT AR 31 % wre F wiewa Tkt
SHHATZER 2% 3 3% & al HieTH
FEiR e § fra sy
TefeEl g Bl & ?

A) 1%

B} 8%

C) 5%

D) 1%

MR fox? 2 P GefE e S

M2 ?
A) (2Ax)/x B) (ax)?/x

C) (ax)/x D) (axy?

= & AT TR fohes: w7
A) s B) e
C) & D) Fai

50 .. F= A @ ol F wee AR
Fre e & o oo a1 1: 2.8 ) R

< e S 1 srgu T 7
A)1:9 B) 9:1
C) 4:1 D) 1:4

R FHiegw w1 2000 & F9 B @1,
TS § TETE T 8 Wehel & 7

A) TRT

B) =R

C) dsmu

D) 57 & %1§ 7=

m.mum No. 30 w
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123.

124,

125.

126.

A drop of liquid having radius 2 mm has
a terminal velocity 20 cm/s, the terminal
velocity of a drop of 1 mm radius will be

A} 40cm/s | 4
mv. 20cm/s

C) 10cm/s -

D). 5cm/s

A horizonial pipe of cross sectional
diameter 5 cm carries water at a velocity
of 4 m/s. The pipe is connected to a
smaller pipe with a cross sectional
diameter 4 cm. The velocity (in m/s) of
water through the smaller pipe is

A) 625 B) 4

C) 12.5 D) 2.56

The coefficient of linear expansion of
a certain steel is 0.000012 per °C.
The coefficient of volume expansion,
in (per °C), is

A) (0.000012)°

B) (4n/3)(0.000012)3
C) 3x0.000012

D) 0.000012

For constructive interference to take
place between two monochromatic
light waves of wavelength 3,, the path

difference should be (rn being an
integer)

A) (2n-1))/4
C) (2n-1)A/2

mv. nA
D) (2n+1)A/2

.

123.

124.

125.

126.

2 firod). m_ﬂmﬂ T §g 1 eHae o9
20 cmy/s 3 &t 1 mm Bt g Frefifa
AT ?

A) 40cm/s

B) 20 cm/s .
C) 10cm/s

D) 5cm/s

i AP =9 5 6t 5 @fosr are
4 m/s 3 % urt 357 A} | 78 TIE
BI G JUATE =T 4 cm & 1Y

IS 3 1 B2 UIgY = g ¥ U F A
(m/s¥) 8
A) 6.25
C) 125

B) 4
D) 2.56
s T wia & Wae: foream =1 omes

0.000012 ¥ ferft Bfckrra 8 | 2w
foreame % qories s feoft i

FeReu |

A) (0.000012)®

B) (4%/3) 8.884&@

h_u.muo No. 31 g

C) 3x0.000012

D) 0.000012

wor eed ), F 3 HeE A Y o F

Ao AT ST B9 & g gu-

R & (n it §)

A) (2n-1)r/4 B) nA

C) (2n—1)A/2 D) (2n+1)A/2
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127. The angle between the plane of

128.

129.

130.

_vibration and plane of polarization is

A) 45°

B) 0°

C) 180°

D) 90°

A laser beam can be sharply focused
because it is

A} Highly coherent

B) Plane polarized

C) Intense

D) Highly directional

Population inversion is important for the

generation of a laser beam because it
assures that

A) Spontaneous emission does not
occur more often than stimuiated
emission

B) More photons are absorbed than
emitted

C) More photons are emitted than
absorbed

D) Photons do not collide with each
other

The average lifetime of an atom in
metastable state is

127.

128.

128.

U F guay IR gt & wna %
BT ?

A) 45°
B) 0°

C) 180°
D) 90°

Gk Ao 19 et & Fiw gt 2, #ifn
7] 7

A) et gaTa
B) & yefipa
C) =

D) stenfier fevmers

SR ST F IareT & f sde
fefada mewqel @ i) @ s
TR f

“A) 3T IS @ wES I T i

ELEERII R

B) Irafsia e i ger & 1R s
WRE!

C) sramitfia wieia @ sifte wier seafifa
TR

D) BITH TH-gW & W T 4E T

A) 107 sec 130. Wereee feuf # weh o) oy ofte
SiereTer &
B) 107° sec
A) 107 sec
C) 1078 sec
0 B) 10 sec
DY 10-
I hsc C) 107 sec
D) 10 gec
Tumuo No. 32 w 2DD-AN
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131.

Maximum velocity of photo electrons
is 3.5%x 108 m/s. If the specific charge

of an electron is 1.75x 10"* C/kg then
the stopping potential (in volt) of the

 electron is

132.

133.

134.

A) 17.5
B) 35
C) 70
D) 52.5

The characteristic X-ray with greatest
frequency emitted from any element is

A) K,
B) Ky
C) L,
D) Lp

The prominent feature of the
Bremsstrahlung X-ray spectrum is cut

off wavelength 2 ... This minimum

cut-off wavelength depends only on

A} The kinetic energy of the electrons
that bombard the target

B) The element of the target material

C) The number of the electrons that
bombard the target .

D) None of the above

Ifthe K, wavelength of an element

-with atomic number Z = 17 is ), then
the atomic number of an element with

K. wavelength of 42 is
A) 3
B) 5
C)7
D) 9

131.

132.

133.

134.

I SR T AR 3 3.5 %108 /s

TR gerR FiafreTm 1,75 x 10" Cikg
? @t s i Vo A Rvaar (diee) #
i

A) 17.5

B) 35

C) 70

D) 52.5

forsiwen X-ray (Tm-Y) 9@ o<t AR %
o feelt i weiss & swafefa 1
A) Ky
B) Kg
C) L,
D) Lg

ATHETET TG -1 W i g o
HAXd 70T e A,y B | T I wed
07 254 S fore W AR w2 7

A) TN F SISRET g1 o) TS St
B) &g gt 1 o

C) wi&g F ForaR s B ge
D) 398 & =i it 7T &

afe T T Z = 17 S qEssa H K
el A\ ¥ K, ol 2w 40 =
i Y gem gl

A) 3

B) 5

C) 7

D) 9
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135.

136.

137.

138.

The minimum wavelength (in pico
metres) of the continuous spectrum of
X-rays emitted when 31 keV electrons
fall on a molybdenum target is

A) 31

B) 20

C) 40

D) 62

The meniscus of mercury in the glass
capillary tube is

A) Concave

B) Plane

C) Convex upwards

D) Uncertain

A liquid does not wet the surface of a
solid if the angle of contact is

A) Zero

B) An acute one

C) 45°

D) An obtuse one

Work done in blowing a liquid drop to
radius R is W, and that to radius 3R is
W, . The ratio of work done is

A)1:3
8) 1:4
C)1:2
D)1:9

135.

136.

137.

138.

S 31 KeV saagi-a Aifvieed 9eg T
e 2, Seaila wag-1 % PRm SFen
T A a7 3 (Rt dfiecg #) €
A) 31
B) 20
C) 40
D) 62

T4 & KA = T U F Ta6gs 2
A) gad

B) @rad

C) 39 FR Al 3R

D) et

T T U 319 i gae e e vt 2
T HY TR R R ?

A) I3

B) =3 ®iv
C) 45°

D) iftre whir

R B & et 9 i § & fo R
TEE W, 3 3R B 3 fr wy,
& A 5u R %1 e &

A) 1:3
B)1:4
C)1:2
D)1:9
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139.

140.

141,

A capillary tube of radius r can support
a liquid of weight 6.28 x 10~ N. If the

surface tension of the liquid is
5x 1072 N/m then the radius of
capillary must be

A) 3.14x10% m

B) 5x10™*m

C) 1.25x1072 m

D) 2x10°% m

A square plate of 0.1 m side moves
parallel to another similar plate with a
velocity of 0.1ms™, both plates being
immersed in water. If the viscous force
is 2x10™ N and viscosity of water is
10~ Nsm™, then distance of separation
between the parallel plates is

A) 25x10%m

B) 75x10™*m

C) 5x10™* m

D) 1.25x10*m

The relation between temperature and
pressure in a reversible adiabatic
processes is

A) P/T =constant
B) PT? =constant
C) P'T"~' = constant
D) P™-'TY = constant

139. r e i HRe " A $

6.28x 10~ N &= =1 gadT et B 1
SR O =l Fag T 5x 1072 N/m
B ot iRt el Y B e St @ 7
A) 3.14x10° m

B) 5x10™m

C) 1.25x102 m

D) 2x107%m

140. 0.1 Wic@aredt & =i uell, st @we )

3R gr=ft 0.1 ms ™! A7 % G GEFTER
T O RS I}, S gt i g s @
B 1 R v 9 2x 1072 N 3R gt
FI 1102 Nsm 28t at FnmieR =2t
% GeTERRIUT ST TR T & 7

A) 25x10~7m
B) 7.5x10* m
C) 5x10*m

D) 1.25%x10* m

141, T gfeadl ame wirmed § e afi

TEE % oIS 1 oy &
A) P/T = @R

B) PT' = f@&r

C) P! = @R
D) P YT = f&R

h_ummm No. 35 Q

2DD-AN



142,

143.

144,

145.

In isothermal process, the work done in
expansion of gas from volume V, to \,
will be

A) nRT

B) nRT In(V,/V;)

C) nRIn(V,/V)

D) nTin(Vy/V,)

A ray of light travelling in air gets
refracted in a glass slab at an angle of
30°. If the refractive index of glass is
1.5, the sine of angle of incidence of
the ray of light is

A) 3/2

B) 2/3

C) 4/3

D) 3/4

The refractive index of glass for Indigo
and Red lights are 1.53 and 1.51

respectively. if the angle of the prism
is 10°, the angular dispersion is

A) 0.153°

B) 0.151°

C) 0.02°

D) 0.2°

Snell's taw fails when the angle of
incidence is

A) 0°

B) 45°

C) 60°

D) 90°

142.

143.

144,

145.

ssEera T AR ¥\,
e foeaR o & forg s ferar st |
A) nRT

B) nRTIN(V,/V,)

C) nRIN(V,/V,)

D) nTin(Vp/Vy)

a1 H g g <hi for wa wmor 30° W
w i F e snafEfia § e g

3P Sl %1 oTafEdaren 1.5, T 3
% hYur S =1 R T B

A) 3/2

B) 2/3

C) 4/3

D) 3/4

Renit 39K T el % FoTe <R o ST
A 1.53 3110 1.51 % 1 9f Brem s
10° & d Fvitg e 3

A) 0.153°

B) 0.151°

C) 0.02°
D) 0.2°

O =1 Frm fawe @ 1 € 9= s
N ___ Basl

A) C°

B) 45°

C) 60°

D) 90°
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L] 4

146. If the ratio between the amplitudes of
two superposing waves is 3 : 2 then

the ratio between the maximum and
minimum intensities of the resultant
wave will be

A) 9:4
C) 13:5

B) 25: 1
D) 5:1
147. The units of the Planck constant ‘i’
are that of
A) Energy
B) Power
C) Momentum
D) Angular momentum

148. The electromagnetic radiations has
photons with the greatest momentum is

A) Radio waves

B) Microwaves :
C) Infrared waves

D) Ultraviolet waves

149, A photon in light beam A has twice the
energy of a photon in light beam B. The

ratio p, /pg of their momenta is
A) 1/2 ;

B) 1/4

C) 2

D) 1

180. In a photoelectric effect experiment ata
frequency above cut off, the number of
electrons ejected is proportional to

A) Their kinetic energy

B) The work function

C) The frequency of the incident light
D) The intensity of light

146. B GG FT1 o T F sfier ot Sfgara
3 : 2 B Ik URoTm § e 1 Aftwan

3P e efteran o sft=r g =R 7
A) 9:4 B) 25:1
C) 13:5 D) 5:1
147. Sres ferar i h' i grgaiwn g ?
A) S
B) wfad
C) nif
D) =ivfig fa

148, fora foega gt fafem & S=eam gam
F urY B B
A) s o
B) HTgshieI=g
C) gt & adi
D) 315gl TEE TR

149. R A PR S T T Ein B &

T % | STk il o1 3716 Pa/Ps %
A) 1/2

B) 1/4

C) 2

D) 1

150. RidEaifaes T W& # T2 oFfF &
FH g R i e A
e eguiae R
A) T} TR St
B) ™ ¥ARE
C) w1 et it a1gfa
D) Wermer Y <figen

B Tumum ..z..u_. 37 H _
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Engineering Course (Lateral Entry) Entrance Competitive Examination held on 30-04-2017
Answer Key Set-B

Q. No. | Answer Key Q.No. | Answer Key Q.No. | Answer Key

1 D 51 D 101 D

2 B 52 B 102 A

3 C 53 C 103 D

4 B 54 A 104 B

5 A 55 D 105 A

6 C 56 A 106 A

7 B 57 B . 107 c

8 A 58 B 108 D

9 Cc 59 A 109 B8
10 A 60 Cc 110 B
11 B 61 A 111 B
12 A 62 C 112 B
13 D 63 A 113 B
14 B 64 A 114 B
15 D 65 A 115 D
16 D 66 C 116 C
17 B 67 D 117 D
18 C 68 A 118 B
19 A 69 B 119 A
20 B 70 c 120 c
21 D 71 A 121 D
22 A 72 D 122 B
23 c 73 B 123 D
24 B 74 D 124 A
25 A 75 C 125 cC
26 c 76 A 126 B
27 A 77 D 127 D
28 D 78 D 128 D
29 B 79 A 129 C
30 A 80 D 130 A
31 D 81 B 131 B
32 B 82 B8 132 B
33 Cc 83 A 133 A
34 D 84 D 134 D
35 C 85 C 135 C
36 Cc 86 A 136 Cc
37 A 87 D 137 D
38 B 88 A 138 D
39 C 89 B 139 D
40 B a0 A 140 c
41 A 1| A 141 D
42 B 92 B 142 B
43 C 93 A 143 D
44 D 94 D 144 D
45 B 95 D 145 A
46 B 96 C 146 B
47 D 97 A 147 D
48 B 98 C 148 D
49 A 99 C 149 C
50 B 100 D 150 D




